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FINAL REVIEW - TRUE, FALSE, OR NONSENSE?

For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or
nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in

one copy per group.
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FINAL REVIEW - TRUE, FALSE, OR NONSENSE?

For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or
nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in
one copy per group.

Y'/i The fulluwmg, H}'Hf[—‘ﬂ] of linear equations is inc [Jﬂ‘a]‘afF]]f

S T
IH-‘;-E"E‘L :5 ,ri-""‘l"- ey B SRR -2 Z (1
g 1+ 2x9—x23 =10 i i , 3 TNk oy, )
SIVAL g ol o W / ; - o]
! 2L —|—2.L’= e i o I . ﬂl\\ ] 2 -y 1O
z ?NLJE : . : ; : ; i, I."I o \ L:.'ﬁ l":) e
13;1:2 e lj:,{: 3 — d ||'1 o - e J T i u
— :
O N W l Given a subspace W of R", W+ spans the same basis as W.
I'-JI:-"--""IU{ r'-":"i' NALL Jh Yy P A e § AL J";.-i'f""-- ' e g L’\j ’ 15"*:‘ A W 1.-1,;1-‘1! rw'd-"
SpOM W e tWe .'-” o W e v\ §wie SPE
'3 --T-- + L5 * : "I' . . . ® e
: If Aisan nxn matrix such that A* is invertible, then the product of the eigenvalues
of Alsnonzerd: [ AT &  metvhivil IRV L0 Pkttt o geaUeS
oA A€ datevnvy it g, £ty ehveliAls ' gpvoelt T BN

)
T

Given three functions a(t), b(t), and ¢(t), continuous and defined on (—oo, c0), the
differential equation a(t)y’ —|— b(t ); .':( ) has exactly one solution defined on (—o00, 00).

~f : ! /
'|-.r'-.‘~J._ R R ts ¥ L= . O .--.'|!. A\ VA VLT

2 lﬁ/ If {1: ?Jﬂ} is a basis for V', then A = ( B e P ) must be a square matrix.

hshal I V % o A" Yoy Awis vl b

WY shhgp sl W ok
el |
2 k/ N For any fhrPe vectors u, U, and w in R", (u sz) W= ﬁ (Lr w).
AT do det f"a‘f"[,d {{F- Wit a zeals il
i,-"lE.baL-:-'!'{-.: (Tey }UJ = K. {u..fu_ﬁ
v A i
l w/ 1 If Ais an n x n matrix, and {v,,...,7,} is a set of eigenvectors with distinct

elgenvalues, then A is diagonalizable.

l }/ At e ¥ o W
) F If A and B are n x n matrices, |A + B| = !}1| + |B].

ABY = 1AVB\ v & vothiy qéce\ Ao / abrt A |

|

r.
L




Aéﬂw* Ml'dvfd é, -0 amey LWMM

Q\J W = Group Number: LIL
[T zva

13 [@ FINAL REVIEW - TRUE, FALSE, OR NONSENSE?

For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or
nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in

one copy per group.
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FINAL REVIEW - TRUE, FALSE, OR NONSENSE?
For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or
nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in
1¢ COpy per group.
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FINAL REVIEW - TRUE, FALSE, OR NONSENSE?

For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or

nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in
one copy per group.
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For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or
nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in

one copy per group.
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